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DGDSILYH DVVHVVPHQU RI IHVW WDNHUV§ GHYHORSHG DELOLIN IR GHULYH PHDQLQJ IIRP

D UDQJH RI SURVH IH[WV DQG IR GHIHUPLQH WKH PHDQLQJ RI ZRUGV DQG SKUDVHV LQ
VKRUW DQG H[IHQGHG FRQWH[IV 3DVVDJIHV RQ WKH WHVI FRYHU D UDQJH RI FRQIHQW

DUHDV  LQFOXGLQJ OLIHUDIXUH DQG OLIHUDU\ QRQTFILRQ FDUHHUWY KLVWRU\ VRFLD0 VIXGLHY
KXPDQLUILHV DQG VFLHQFH ZULILQJ PRGHV LQIRUPDILYH H[SIDQDIRU\ DUJIXPHQW
DQG QDUUDILYH DQG FRPSIH[LILHV UHODILYHO\ HDV\ WR YHU\ FKDWHQJLQJ  %RIK
VLQJOH DQG SDLUHG SDVVDJIHV DUH LQFOXGHG  7KH WHVIi SRR0 LQFOXGHV ERIK DXIWKHQILF
IHLIV SUHYLRXVON SXEOLVKHG SDVVDJHV H[FHUSIHG RU PLQLPDOO\ DGDSIHG IURP

IIKHW SXEOLVKHG IRUP DQG FRPPLVVLRQHG IH[WV ZULIWHQ VSHFLTFDWON IRU IKH WHVW
AXHVILRQV DUH PXOILSOH FKRLFH LQ IRUP DI DQG DSSHDU DV ERIK GLVFUHIH VIDQG DORQH
TXHVILRQV DQG DV SDUIV RI VHIV RI TXHVILRQV EXLOI DURXQG D FRPPRQ SDVVDJH RU
SDVVDJIHV )RXU EURDG NQRZOHGJIH DQG VNLO0 FDIHJIRULHV DUH DVVHVVHG
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Sample Questions

Directions for questions 1-18

Read the passage(s) below and answer the question based
on what is stated or implied in the passage(s) and in any
introductory material that may be provided.

In this passage, an amateur theater group called the
Laurel Players is putting on its rst production.

(1) e Players, coming out of their various kitchen
doors and hesitating for a minute to button their
coats or pull on their gloves, would see a landscape
in which only a few very old, weathered houses
seemed to belong; it made their own homes look as
weightless and impermanent, as foolishly misplaced
as a great many bright new toys that had been

le outdoors overnight and rained on. (2) eir
automobiles didn’t look right either—unnecessarily
wide and gleaming in the colors of candy and ice
cream, seeming to wince at each splatter of mud, they
crawled apologetically down the broken roads that
led from all directions to the deep, level slab of Route
Twelve. (3) Once there the cars seemed able to relax
in an environment all their own, a long bright valley
of colored plastic and plate glass and stainless steel—
KING KONE, MOBILGAS, SHOPORAMA, EAT—
but eventually they had to turn o , one by one, and
make their way up the winding country road that led
to the central high school; they had to pull up and
stop in the quiet parking lot outside the high-school
auditorium.

(4) “Hi!” the Players would shyly call to one another.
(5) “Hi!...” (6) “Hi!...” (7) And they’'d go




Passage 1

Green Bank, West Virginia, is a tech-savvy teenager’s
nightmare. In this tiny town in Pocahontas County—
population 143—wireless signals are illegal. No

cell phones. No WiFi. No radio. No Bluetooth. No
electronic transmitters at all. You're not even allowed
to cozy up to an electric blanket.

e remote town is smack in the center of the
National Radio Quiet Zone, a 13,000 square
mile stretch of land designated by the Federal
Communications Commission to protect two
government radio telescopes from human-made
interference. e rules are most strict in Green Bank.
So strict that a police 0  cer roves the streets listening
for forbidden wireless signals.

It’s necessary, though. e town is home to the Green
Bank Telescope, the largest steerable radio telescope
in the world—and arguably our most powerful link
to the cosmos. Scientists there listen to radio energy
that has journeyed light years, unlocking secrets
about how the stars and galaxies formed. A rogue
radio signal could prevent potential discoveries,
discoveries that could answer big questions about
how the universe ticks.

Adapted from Lucas Reilly, “ e West Virginia Town Where
Wireless Signals Are Illegal.” ©2013 by Mental Floss, Inc.

Passage 2




9.

As soon as | saw the Manhattan map, | wanted to
draw it. I should be able to draw the place where |
lived. So | asked Mom for tracing paper and she got

it for me and | brought it into my fort and I pointed
the light right down on the rst map in the Hagstrom
Atlas—downtown, where Wall Street was and the
stock market worked. e streets were crazy down
there; they didn’t have any kind of streets and avenues;
they just had names and they looked like a game of
Pick-Up Sticks. But before I could even worry about
the streets, | had to get the land right. Manhattan was
actually built on land. Sometimes when they were
digging up the streets you saw it down there—real
dirt! And the land had a certain curve to it at the
bottom of the island, like a dinosaur head, bumpy on
the right and straight on the le , a swooping majestic
bottom.

From Ned Vizzini, It's Kind of a Funny Story.
©2006 by Ned Vizzini.

In the passage, the use of “crazy,” “dinosaur head,”
“bumpy,” “straight,” and “swooping” serve mainly to
emphasize the

A. narrator’s serious approach to mapmaking

B. narrator’s frustration with drawing

C. irregularity of downtown Manhattan

D. ways in which a landscape can change over time

e life of Edith Wharton is not an inspiriting
rags-to-riches saga, nor is it a cautionary tale of
riches to rags—riches to riches, rather. Born Edith
Newbold Jones, in January of 1862, into one of the
leading families of New York, the author maintained
multiple establishments and travelled in the highest
style, with a host of servants, augmenting her
several inheritances by writing best-selling ction.
In the Depression year of 1936, when two thousand
dollars was a good annual income, her writing
earned her a hundred and thirty thousand, much
of it from plays adapted from her works. Yet her
well-padded, auspiciously sponsored life was not
aneasy one. e aristocratic social set into which
she was born expected its women to be ornamental,
well-sheltered, intellectually idle agents of their
interwoven clans, whereas Edith was an awkward,
red-haired bookworm and dreamer, teased by her
two older brothers about her big hands and feet and
out of sympathy with her intensely conventional
mother, née Lucretia Stevens Rhinelander—a mother-
daughter disharmony that rankled in Edith’s ction
to the end.

the biography Edith Wharton by Hermione Lee.
©2007 by Condé Nast.

Adapted from John Updike, “ e Changeling,” a review of

10. Which choice best describes the overall structure of the

passage?

A. Biographical incidents are recounted
chronologically.

B. Anauthor’s life is connected to various themes in
her work.

C. e works of two authors are compared and
contrasted.

D. Alist of advantages is followed by a list of
disadvantages.

Bones found in South America reveal a bizarre
new dinosaur. Based on an ancestry that links it to
Tyrannosaurus rex, this reptile should have been a
meat eater. Instead, it preferred plants. Researchers
described the new species in Nature.

Its genus name—Chilesaurus—re ects that it was
found in what’s now Chile. e team that discovered
the fossils gave it a species name of diegosuarezi to
honor Diego Suarez. While just 7 years old, Diego
found the rst dinosaur bones in the same general
area of Chile. It’s a place known as the Toqui
Formation.

C. diegosuarezi roamed South America 150 million
years ago. It measured about 3 meters (roughly




e rstalbum that singer Leehom Wang bought as an
adolescent was the Beastie Boys’ Licensed to Ill; his rst
concert was Heart, at the War Memorial in Rochester,
New York. As for Chinese pop music, though, Wang
says he recalls hearing it only once as a youngster—
when his singer uncle, Li Jian-fu, paid a visit in
the 1980s and played his nationalistic-patriotic hit
“Descendants of the Dragon” in Wang’s living room.

Wang didn't know it then, but he would go on

to remix “Descendants of the Dragon” for a new
generation, adding new lyrics about his parents’ own
immigrant experience. Over the last decade, Wang’s
songs have frequently emphasized his dedication

to and pride in his Chinese heritage—themes that

re ect his personal journey and have a powerful
commercial appeal, particularly on the mainland.

At the same time, Wang has demonstrated a strong
interest in incorporating traditional Chinese music and
instruments into his hip-hop and R&B-based tunes.

Adapted from Julie Makinen, “Can Leehom Wang
Transcend China and America’s Pop Cultures?”
©2014 by Los Angeles Times.

12, esecond paragraph marks a shi in the passage from a
discussion of Leehom Wang’s

A. family members to Leehom Wang himself

B. early musical in uences to his later musical career

C. interest in the United States to his interest in China

D. fondness for pop music to his fondness for
traditional music

Technology has scrambled the lines between public
and private. Cellphones make our most intimate
conversations available to anyone within earshot,
while headphones create zones of pure solitude even
in the midst of the liveliest crowd. Smartphones and
tablets allow us to spend time with art without ever
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Rationales

Choice B is the best answer. 6HQIHQFH  QRIHV IIKDII LQ IKH SIDQGVFDSH & SRQU\

D IHZ YHU\ RIG ZHDWKHUHG KRXVHV VHHPHG IR EHIRQJS EN FRQIUDVI WKH 30D\HUVS
KRXVHV VHHPHG $ZHLIKIOHVV § SLPSHUPDQHQI § DQG SPLVSIDFHG & 0LNH SEULIKI QHZ
IR\V § GHQIHQFH  HVIDEOLVKHV IKDII IKH 30D\HUVS DXIRPRELIHV SGLGQSH 0RRN ULIKI
HLIKHU & WKDI IKH\ DSSHDUHG $XQQHFHVVDULON ZLGH DQG JOHDPLQJ LQ WKH FRIRUV RI
FDQG\ DQG LFH FUHDP & WKDI IKH\ VHHPHG $IR ZLQFH DIl HDFK VSIDIHU RI PXG & DQG
WKDI IKH\ SFUDZOHG DSRORJHILFDION GRZQ IKH EURNHQ URDGV § &KRLFH $ LV LQFRUUHFH
EHFDXVH IiKH 30D\HUVS KRPHV DQG DXIRPRELIHV DUH QHLIKHU ROG QRU QHJCHFIHG

LQ IDFW WKH SDVVDJH LQGLFDIHV WKDH IKH KRPHV DQG DXIRPRELIHV DUH PRGHUQ LQ
UHODHLRQ IR WKH SIDQGVFDSHS DQG SURDGVS VHQIHQFHV &  DQG WKDI IKH DXIRPRELIHV
DUH SJHDPLQJS VHQIHQFH  &KRLFH & LV LQFRUUHFI EHFDXVH IKH 30D\HUVS KRPHV
DQG DXIRPRELIHV DUH QRIl VPD0 IRU RQH IKLQJ IKH DXIRPRELIHV DUH SXQQHFHVVDULO\
ZIGHS VHQIHQFH  &KRLFH = LV LQFRUUHFI EHFDXVH IKHUH LV QR HYLGHQFH LQ IIKH
SDVVDJH WKDI IKH 30D\HUVS KRPHV DQG DXIRPRELOHV DUH XQDSSUHFLDIHG



Choice B is the best answer. 7KH TUVIl 1ZR SDUDJUDSKV RI 3DVVDJIH ~ GHVFULEH
ZKDIl PLIKII VHHP 0LNH H[WUHPHO\ KDUVK UHVIULFILRQV RQ ZLUHOHVV IUDQVPLVVLRQV
QR HOHFIURQLF UDQVPLINHUV D DO & S\RXSUH QRI HYHQ DIRZHG IR FR]\ XS IR DQ
HOHFYULF EODQNHI & $D SRILFH RTFHU URYHV IKH VIUHHIV 0LVIHQLQJ IRV IRUELGGHQ
ZLUHOHVV VLIQDOV § 7KH 0DVHl SDUDJUDSK RI 3DVVDIH  VHUYHV PDLQIN IR RTHU
IXVILTFDILRQ WKH UHVIULFILRQV DUH SQHFHVVDUNS EHFDXVH SIKH IRZQ LV KRPH IR
WKH *UHHQ %DQN 7HIHVFRSH & DQG $D URJXH UDGLR VLIQDO FRX0G SUHYHQN SRIHQILDO
GLVFRYHULHV & &KRLFH $ LV LQFRUUHFI EHFDXVH IKH 0DVIi SDUDJUDSK RI 3DVVDJIH
GRHV QRI IDNH D FULILFDO IRQH IRZDUG KH HOHFIURQLFY UHVIULFILRQV LQ *UHHQ %DQN



Choice Cis the best answer. The narrator uses all of the listed words and
SKUDVHV IR FRQYH\ WKH LUUHJIXODULIN\ Rl GRZQIRZQ ODQKDWIDQ LWV VIWUHHIV DUH
§FUD]\§ DQG WKH 0DQG KDV ) FHUIDLQ FXUYH IR Lif Dif WKH ERWRP RI WKH LVOIDQG

OLNH D GLQRVDXU KHDG EXPS\ RQ WKH ULJKW DQG VIIUDLIKI RQ WKH OHIW D VZRRSLQJ
PDIHVILF ERWIRP § &KRLFHV $ DQG % DUH LQFRUUHFI EHFDXVH WKH 0LVIHG ZRUGV DQG
SKUDVHV DUH DERXIl GRZQIRZQ ODQKDWIDQ QRW DERXI WKH QDUUDIRUSV DSSURDFK

IR PDSPDNLQJ RU DMILIXGH WRZDUG GUDZLQJ &KRLFH = LV LQFRUUHFI EHFDXVH WIKH
SDVVDJH GRHV QRW GHVFULEH KRZ D 0DQGVFDSH FDQ FKDQJH HYHU\IIKLQJ SUHVHQIHG
LQ WKH SDVVDJH RFFXUV RYHU D UHODWLYHON VKRUW SHULRG RI WLPH

Choice D is the best answer. 7KH SDVVDJH EHJLQV EN\ 0LVILQJ VRPH RI KH
DGYDQIDJHV = KDUIRQ HQIR\HG EHLQJ ERUQ LQIR SRQH RI WKH (HDGLQJ IDPLOLHV

Rl 1HZ <RUN § PDLQIDLQLQJ SPXOILSOH HVIDEILVK PHQIIV § HUDYHILQJ SLQ WKH

KLIKHVI VINOH - ZLIK D KRVH RI VHUYDQIV § KDYLQJ SVHYHUDO LQKHULIDQFHV § EHLQJ
WKH DXIIKRU RI SEHVI VH00LQJ TFILRQ § DQG HDUQLQJ LQ D " HSUHVVLRQ

\HDU 7KH SDVVDJH FRQFOXGHV ZLIK D 0LVl Rl GLVDGYDQIDJHY = KDUIRQ 0DERUHG
XQGHU ZRPHQ LQ KHU SVRFLD) VHIIS ZHUH H[SHFIHG IR EH SRUQDPHQID0 ZH0
VKHOIHUHG  LQUHOOHFIXDOON LGOH DIHQIIV RI WKHLU LQIHUZRYHQ FODQV 8 DQG = KDUIRQ
ZDV SDZNZDUG § SIHDVHGS EN\ KHU ROGHU EURIKHUV DQG SRXIi R VAPSDIK\ ZLIK KHU
LQWHQVHON FRQYHQILRQDO PRIKHU § &KRLFH $ LV LQFRUUHFII EHFDXVH WKH SDVVDJH GRHV
QRWIRWRZ D FKURQRORJILFDO VIUXFWXUH &KRLFH % LV LQFRUUHFI EHFDXVH IIKH SDVVDJH
FRQYH\V RQU\ RQH IKHPH Rl = KDUIRQSV ZRUN SPRIIKHU GDXJKIHU GLVKDUPRQ\$
&KRLFH & LV LQFRUUHFW EHFDXVH WKH SDVVDJH IRFXVHV RQ = KDUIRQ H[FOXVLYHO\

Choice D is the best answer. The author notes that the new dinosaur

SVKRX0G KDYH EHHQ D PHDI HDIIHUS JLYHQ WKDII Ll KDG SDQ DQFHVIIU\ WKDW OLQNV LW IR
Tyrannosaurus rex § ZKLFK WKH DXIKRU LPS0LHV ZDV LiIVHII D PHDW HDIHU /LNH WiKH
T.rex C. diegosuarezi KDG SVIXUG\ EDFN (HJV & D SWKLQ ERG\ & DQG SVKRUIl VIRXII
DUPV3 IIKDIl SPDGH LIl (RRN D ELIl 0LNH T. rex § C. diegosaurezi KRZHYHU KDG RWKHU



Choice Cis the best answer. 7KH H[DPS(HV LQ WKH SDVVDJH GHVFULEH LQ YDULRXV
ZD\V KRZ SIHFKQRIRJI\ KDV VFUDPEHG IIKH 0LQHV EHIIZHHQ SXEOLF DQG SULYDIH §

,Q FKRLFH & ZKDIf PLIKW RIKHUZLVH KDYH EHHQ D SULYDWH IKRXJKIf KDV EHHQ PDGH
SXEOLF IKURXJIK WHFKQRIRIN\ &KRLFH $ LV LQFRUUHFW EHFDXVH IIKH H[DPS0H GRHV
QRII FOHDUON LQYROYH WHFKQRIRIN\ &KRLFH % LV LQFRUUHFI EHFDXVH WKH H[DPS0H GRHV
QRII FOHDUON LQYROYH WHFKQRIRJ\ EOXUULQJ WIKH 0LQHV EHIZHHQ SXE(LF DQG SULYDIH
&KRLFH = LV LQFRUUHFW EHFDXVH IKH H[DPSH GRHV QRW FOHDUO\ LQYROYH WHFKQRORJI\
RU WKH E0XUULQJ RI WKH 0LQHV EHIZHHQ SXEILF DQG SULYDIH

Choice A is the best answer. 7KH PDLQ IRFXV RI #KH SDVVDJH LV RQ IKH YDULHIN RI
WKH UHVSRQUVLELOLILHV RI D FRQVIUXFILRQ PDQDJHU ZKR PXVI $0HDUQ D FRQVIUXFILRQ
SURIHFH IURP WKH SIDQQLQJ VIDJH IR WKH EXGJIHILQJ VIDIH

IR IKH SURGXFILRQ VIDJIHS DQG PXVI SRENDLQ ZRUN SHUPLIV KLUH FRQIUDFIRUV
URXEOHVKRRI HPHUJHQFLHV VFKHGX0H ZDONIKURXJKV DQG NHHS FOLHQIV LQIRUPHG RQ
ZRUN ILPHIDEOHV DQG SURJUHVV § &KRLFHV % DQG = DUH LQFRUUHFY EHFDXVH WKHUH LV
QR LQIRUPDILRQ LQ IKH SDVVDJH DERXIH IKH HGXFDILRQD) EDFNJURXQG UHTXLUHG RI D
FROVWUXFILRQ PDQDJHU RU DERXI IKH DPRXQI RI VIUHVV KH FRQVIUXFILRQ PDQDJHU
FDUHHU LQULFIV &KRLFH & LV LQFRUUHFII EHFDXVH IKHUH LV QR LQIRUPDILRQ LQ IIKH
SDVVDJH DERXI WKH NLQG RI SHUVRQ IRU ZKRP D FRQVIUXFILRQ PDQDJHU FDUHHU
ZRX(G EH VXUIDECH EH\RQG WKH EURDG FODLP WKDIi Lif LV SLGHDO IRU VRPHRQH ZKR KDV
D JHQHUDO LQUHUHVI LQ EXLIGLQJ D GHVLIQ §

Choice A is the best answer. The author asserts that The Pickwick Papers SIUX0\
SRSXODULJHGS WKH IRUP RI IKH VHULDOL]JHG QRYHO QRVLQJ WKDW WKH TUVW LQVIIDOOPHQN
KDG D SULQW RUGHU RI FRSLHV DQG WKDW FLUFX0DILRQ KDG FILPEHG IR

SEN WKH IiLPH IKH TQD0 HQIU\ ZDV SXEILVKHG § &KRLFH % LV LQFRUUHFIl EHFDXVH WIKH
SDVVDJH LQGLFDIHV WIKDIl XQUHVROYHG SORWV DQG HOOLSWLFDO VHFILRQ EUHDNV ZHUH
PHUHO\ [HDWXUHV RI VHULDOLJTHG QRYHOV RQHV WKDW KHISHG SURPRIH VHULDOL] DILRQSV
VXFFHVV EXIl ZHUH QRW WKHPVHOYHV HYLGHQFH RI WKH VXFFHVV RI VHULDOL]DILRQ
&KRLFHV & DQG = DUH LQFRUUHFI EHFDXVH WKH SDVVDJH FLIHV WKH GHFUHDVH LQ FRWW RI
ERRN SURGXFILRQ DQG WKH GHYHIRSPHQW RI QHZ PHGLXPV VXFK DV UDGLR DV FDXVHV
RI WKH GHFOLQH RI VHULDOL]DWLRQ  SVORZON VKULYHOHG DZD\$

Choice B is the best answer. +DUHP LV LGHQILTHG LQ WKH SDVVDJIH DV D
SQHLIKERUKRRGS DQG SLQ WKH KHDUN RI ODQKDINDQ § QR DQ DFIIXDO FLIN LQGLFDILQJ
KD SQGHUVRQSV XVH RI SFLINS LV QRQULIHUDO 7KH SDVVDJIH PRVI VIURQJION VXIJHVIV
WKDW +DUHP LV D SFLING LQ WKH VHQVH IKDIf Ll ZDV D SODFH WKDI SEODFNV ZHUH PDNLQJ
WKHLU RZQ & &KRLFHV $ & DQG ™ DUH LQFRUUHFY EHFDXVH IKHUH LV QR HYLGHQFH LQ
WKH SDVVDJIH KD $QGHUVRQ LQIHQGHG IR LQIURGXFH LURQ\ LQIR KLV ZULILQJ ZDV
FLILQJ DQRIKHU DXIKRU RU TXRILQJ GLDIRIXH

Choice D is the best answer. 7KH DXIKRU FRQIHQGV WKDW SDWRQDJH RI VFLHQFH
SIHQHUDOO\ HLWUDFHV D SULFHS DQG IIKDIIl SLQ IKH FDVH RI VFLHQFH IRGD\  WKDI
SUHVVXUH FRPHV (HVV DV D FRQVHTXHQFH RI SRILILFDO FRUUHFIQHVV IKDQ RI HFRQRPLF
IRUFHV WKDI KDYH VKLIWHG DFDGHPLF DQG VFLHQILTF LQVILIXWLRQV YR D FRUSRUDIH
PRGH0 QR GHVLIQHG IR SULRULILTH SXEOLF LQIHUHVIVS DQG KHQFH SRIHQULDOO\ KRVIILOH
IR IKH FRPPRQ JRRG 7 KH DXIIKRU FRQFIXGHV WKDII SLil LV PRQH\ 1DU PRUH IIKDQ
LGHRIRJI\ WKDW UX0HV WKH GD\S3 LQ FRQIHPSRUDU\ VFLHQFH &KRLFH $ LV LQFRUUHFW
EHFDXVH IIKH DXIIKRU GHSLFWV IKH DFDGHPLF LQVILIXILRQV ZUIK ZKLFK VFLHQILVIV

DUH DT0LDIHG DV VXEIHFI IR 0DUJHU SHFRQRPLF IRUFHV KDl KDYH VKLIWHG IKHVH
LQVILKXILRQV IR SD FRUSRUDIH PRGH0 § &KRLFH % LV LQFRUUHFH EHFDXVH WKHUH LV

QR HYLGHQFH LQ WKH SDVVDJH WKDI WKH DXWKRU FRQVLGHUV IIKH RYHUDEXQGDQFH RI
LQIRUPDILRQ DYDLODEOH WR VFLHQULVIV LQ WKH ,QFHUQHI DJH DV WKH FKLHI LPSDLUPHQN
RI VFLHQILTF UHVHDUFK WRGD\ RU HYHQ KDl VKH VHHV LQIRUPDILRQ DV RYHUDEXQGDQW
&KRLFH & LV LQFRUUHFIW EHFDXVH WKH LGHD WIKDW SUHVVXUH RQ VFLHQILVIV iR PDNH KHLU
RXIFRPHV VRFLDOO\ DFFHSHDEOH SSROLILFDO FRUUHFIQHVV & SLGHRIRINS LV WKH FKLHI
LPSDLUPHQW RI VFLHQILTF UHVHDUFK WRGD\ LV DIWULEXWHG IR $0LFH = UHJIHU QR IR WKH
DXIIKRU KHUVHOI ZKR DUJXHV D GLTHUHQH SRVLILRQ SGHVSLIH = UHJHUSV DUIXPHQH §
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Choice B is the best answer. 7KH SDVVDJH IRFXVHV PDLQO\ RQ SUHVHQILQJ IIKH
FULILTXH RI IKH ,QIHUQHI RTHUHG EX\ 6KHUU\ 7XUNOH ZKR SKDV EHFRPH LQFUHDVLQJO\
ZDU\ RI lIKH FDSDFLIN\ Rl RQILQH VSDFHV IR IX0T00 XV LQ WKH ZD\V ZH VHHP iR ZDQW
WKHP RS DQG IHHOV IKDW WKH , QIHUQHH HQFRXUDJHV SD VHGXFILYH EXI GDQJHURXV
KDELW Rl PLQG § &KRLFH $ LV LQFRUUHFW EHFDXVH RQO\ 6KHUUN 7 XUNOHSV DVVHVVPHQI
LV SUHVHQWHG LQ WKH SDVVDJIH &KRLFH & LV LQFRUUHF EHFDXVH IIKH SDVVDJH GRHVY QRII
SURSRVH D UHPHG\ Ll RQO\ SUHVHQIV 7XUNOHSV DVVHVVPHQI RI D SURE(HP  &KRLFH =
LV LQFRUUHFI EHFDXVH ZKL0H IKH SDVVDJH GRHV SUHVHQI VRPH GHIDLOV WKDIf PLIKW EH
FRQVLGHUHG EDFNJURXQG H J WKDI 7XUNOH ZRUNV Dif fKH ODVVDFKXVHIIV , QVILIXIH
RI 7HFKQRIRJI\  IIKH SDVVDJH IRFXVHY PDLQO\ RQ 7XUNOHSV FULILTXH RI IKH , QIHUQHWS
DELOLIN IR VXSSRUI VHOI LQYHQILRQ

Choice C is the best answer. S = RUIK\ RIS PHDQV GHVHUYLQJ UHVSHFIl RU SUDLVH
ZKLFK LV FRQVLVIHQW ZLWK WKH LGHD LQ WKH VHQWHQFH WKDI iKH T0P FRP PLIfHH EHJDQ
ORRNLQJ IRU QHZ FDQGLGDIHV IRU IKH DZDUG ZKHQ WKH RULILQD0 QRPLQHHV SURYHG
XQVDILVIDFIRU\ &KRLFHV $ % DQG = DUH LQFRUUHFI EHFDXVH LIl PDNHV QR VHQVH LQ
FRQIHLW WR GHVFULEH XQVDHLVIDFIRU\ QRPLQHHV IRU DQ DZDUG DV EHLQJ SNQRZQ IRUS
RU SSOHDVHG ZLIiKS WKH DZDUG VLQFH QRQH RI IKHP KDV UHFHLYHG LW RU SLQIHUHVIHG
LQS IKH DZDUG  VLQFH WKH QRPLQHHVS LQWHUHVII LV LUUHOHYDQUW IR WKHLU TXDOLTFDILRQV

Choice D is the best answer. 2QH GHTQUILRQ RI SEHQLJIQS LV SKDYLQJ QR
VLIQLTFDQI HTHFI KDUPOHVV § ZKLFK LV FRQVLVIHQI ZLIK KRZ SEHQLJQS LV XVHG
LQ WIKH VHQIHQFH iR UHIHU IR D WHFKQRORJ\ KDl RSHUDIHV SZLIK HVVHQILDIO\ QR
HPLVVLRQV § &KRLFHV $ % DQG & DUH LQFRUUHFW EHFDXVH Ll PDNHV QR VHQVH LQ
FRQIH[W R UHIHU IR D WHFKQRORJI\ WKDI RSHUDIHV SZLIK HVVHQILDOON QR HPLVVLRQVS
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